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Question Number : 1 Question Id : 70819115874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
X

The workdone by a gas molecule in an isolated system is given by, W= ['t-ljzp «kT where x

is the displacement, k is the Boltzmann constant and T is the temperature. a and { are
constants, Then the dimensions of § will be :
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Question Number : 1 Question Id : 70819115874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 70819115875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two stars of masses m and 2m at a distance d rotate about their common centre of mass in
free space. The period of revolution is :

Options :
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Question Number : 2 Question Id : 70819115875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819115876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical particles of equal masses 1 kg made to move along the circumference of a
circle of radius T m under the action of their own mutual gravitational attraction. The speed
of each particle will be :

Options:
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Question Number : 3 Question Id : 70819115876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819115877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Moment of inertia (M.L) of four bodies, having same mass and radius, are reported as ;

lI =M.L of thin circular ring about its diameter,

[,=M.I. of circular disc about an axis perpendicular to disc and going through the centre,
;=M. of solid cylinder about its axis and

[;=M.L of solid sphere about its diameter.

Then :

Options :
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Question Number : 4 Question Id : 70819115877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 70819115878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider two satellites Sl and 82 with periods of revolution 1 hr. and 8 hr. respectively
revolving around a planet in circular orbits. The ratio of angular velocity of satellite 5; to the
angular velocity of satellite 5, is :

Options :
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Question Number : 5 Question Id : 70819115878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 70819115879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Each side of a box made of metal sheet in cubic shape is ‘a’ at room temperature ‘T, the
coefficient of linear expansion of the metal sheet is “o’. The metal sheet is heated uniformly,
by a small temperature AT, so that its new temperature is T+ AT. Calculate the increase in
the volume of the metal box.

Options:
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Question Number : 6 Question Id : 70819115879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819115880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If'Y, K and n are the values of Young’s modulus, bulk modulus and modulus of rigidity of
any material respectively. Choose the correct relation for these parameters.

Options :
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Question Number : 7 Question Id : 70819115880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819115881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the velocity-time graph has the shape AMB, what would be the shape of the corresponding
acceleration-time graph ?
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Question Number : 8 Question Id : 70819115881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819115882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n mole of a perfect gas undergoes acyclic process ABCA (see figure) consisting of the following
processes.

A—B :  Isothermal expansion at temperature T so that the volume is doubled from
‘Jl o sz ZVl and pressure changes from P'l to Pz-

B—=C . [sobaric compression at pressure P'2 to initial volume ‘Jl.

C—=A : [sochoric change leading to change of pressure from F'2 to P‘l.

Total workdone in the complote C}-'cle ABCA is:
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Question Number : 9 Question Id : 70819115882 Question Type : MCQ Option Shuffling

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819115883 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List II.

List 1 List 11
(a) Isothermal (i) Pressure constant
(b) Isochoric (ii) Temperature constant
(c) Adiabatic (iii) Volume constant
(d) Isobaric (iv) Heat content is constant

Choose the correct answer from the options given below :
Options:
70819152807, (@) — (1), (b) — (iid), (c) — (i), (d) — (iv)

70819152808, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

20819152809, (@ = (i), (b) = (), (¢) — (i), (d) — (i)

70819152810, @) — (i), (b) — (iii), (c) — (iv), (d) — (i)

Question Number : 10 Question Id : 70819115883 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 70819115884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[n the given figure, a mass M is attached to a horizontal spring which is fixed on one side to
a rigid support. The spring constant of the spring is k. The mass oscillates on a frictionless
surface with time period T and amplitude A. When the mass is in equilibrium position, as

shown in the figure, another mass m is gently fixed upon it. The new amplitude of oscillation
will be :
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Question Number : 11 Question Id : 70819115884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819115885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A cell E; of emf 6 V and internal resistance 2 (2 is connected with another cell E, of emf 4 V
and internal resistance 8 () (as shown in the figure). The potential difference across points
XandYis:

p X B v
—f——f—

6V.20 4V 80

Options :

70819152815, 20 V

70819152816, 3.6 V

70819152817. 5.6 V

70819152818, 10.0 V

Question Number : 12 Question Id : 70819115885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
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70819152817. 2.6 V
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Question Number : 13 Question Id : 70819115886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current through a wire depends on time as
i=ogt+pt?

where ay=20 A/s and ;=8 As~2. Find the charge crossed through a section of the wire in
15 8.

Options :
70819152819, 260 C
70819152820, 2100 C

70819152821, 11250 C

70819152822, 2250 C

Question Number : 13 Question Id : 70819115886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819152821, 11250 C

70819152822, 2250 C

Question Number : 14 Question Id : 70819115887 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two equal capacitors are first connected in series and then in paraIIoL The ratio of the
equivalent capacities in the two cases will be :

Options :

70819152823, 1:2
70819152824, 21
70819152825, 4: 1

70819152826, 1:4

Question Number : 14 Question Id : 70819115887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819115888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cube of side ‘a" has point charges +Q located at each of its vertices except at the origin
where the charge is — Q. The electric field at the centre of cube is :
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Question Number : 15 Question Id : 70819115888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



-

QFIRRG (RaQ L4610, 6UK0KA 1@ ~Q oI 928, geeie a1 8g6a +Q

‘a" dIQ 891 6RIE
& 062 | 9N06EQ 6RYER RQER 6HQ 6RAE

dagIde @9 9

X
+0Q +Q
+Q +Q
+Q ..
+Q -Q
jor —a—b +Q
Options :
Q [ oy W
Sl——— e X y z
3y 3 rE 'LE \
;0819152827 V3 ™0a” /
Q [ By W
— X z
jﬁ-TrE{}ﬁE \ s A
70819152828.
20Q A
e LS AR
70819152829, ~N- TEpa L /
20 \|
—2 x + ];" - z
70819152830, V3 mepa” | /

Question Number : 16 Question Id : 70819115889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f an emitter current is changed by 4 mA, the collector current changes by 3.5 mA. The value
of  will be :

Options :

70819152831, 7

70819152832, U-875



70819152833, U-5

70819152834, 3.5

Question Number : 16 Question Id : 70819115889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819152831, 7
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Question Number : 17 Question Id : 70819115890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[n the given figure, the energy levels of hydrogen atom have been shown along with some
transitions marked A, B, C, D and E.

The transitions A, B and C respectively represent :

+eV
oo Continuum = g 7
C2 1L =il
n=>s -0 eV
n=4 —0.85eV
n=3 . —151 eV
gl € |p
n=2 : —34eV
A F
n=1 —13.6eV

Options :

The first member of the Lyman series, third member of Balmer series and second member
70819152835, of Paschen series.

The ionization potential of hydrogen, second member of Balmer series and third member
70819152836. of Paschen series.

The series limit of Lyman series, second member of Balmer series and second member
70819152837. of Paschen series.

The series limit of Lyman series, third member of Balmer series and second member of
70819152838, [aschen series.

Question Number : 17 Question Id : 70819115890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 70819115891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Two photons having equal linear momenta have equal wavelengthq.

Statement Il :  If the wavelength of photon is decreased, then the momentum and energy
of a photon will also decrease.

[n the light of the above statements, choose the correct answer from the options given below.

Options:



70819152839, Both Statement I and Statement Il are true
70819152840 Both Statement | and Statement 1l are false
70819152841. Statement 1 is true but Statement 11 is false

70819152842, Statement 1 is false but Statement 11 is true

Question Number : 18 Question Id : 70819115891 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 19 Question Id : 70819115892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The focal length f is related to the radius of curvature r of the spherical convex mirror by :

Options :
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Question Number : 19 Question Id : 70819115892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 20 Question Id : 70819115893 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment, the width of the one of the slit is three times the other
slit. The amplitude of the light coming from a slit is proportional to the slit-width. Find the
ratio of the maximum to the minimum intensity in the interference pattern.

Options :



e
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70819152847,
70819152848, 2 1
70819152849, 1:4
70819152850, 3 : 1

Question Number : 20 Question Id : 70819115893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ZICRIRR 2RI 89-08 U@ AAQUST 26C | QORI SRR AR 9@ AIT] 91R0IR AZUS
6ERE :

Options :

70819152847, 41

70819152848, 2+ 1

70819152849, 1:4

70819152850, 3 : 1

Physics Section B
Section Id : 708191599
Section Number: 2
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

10

20

Yes

1
708191879

Yes

Question Number : 21 Question Id : 70819115894 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coefficient of static friction between a wooden block of mass 0.5 kg and a vertical rough
wall is 0.2. The magnitude of horizontal force that should be applied on the block to keep it

adhere to the wallwillbe ~ N.
[g=10 ms 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819115894 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.5 kg 999 988 666 Q0¢a (QR) 168° 9@ ARl 990 @1 fuUea cE8e Qdd yalw
0.2 266 | RG] @8 QP QGi QYR il Y9I Aa6R RIPINYRI §ANIBR 99Q BRI 2ee

_N

[g=10 ms 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819115895 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An unpolarized light beam is incident on the polarizer of a polarization experiment and the
intensity of light beam emerging from the analyzer is measured as 100 Lumens. Now, if the
analyzer is rotated around the horizontal axis (direction of light) by 30" in clockwise direction,
the intensity of emerging light will be ~ Lumens.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819115895 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4@ 91190d 0019160 6915 Yor (CUINRINSS,) U6 YTe 6RIQ PUQ YR ZERIR 0F 2IT6e
62028 19 2FNINPRE S1PIHAR 26AIT 8§ 91961 100 REFR 6RIR ALIAN | 98AIE, ZIRIAICERET
97186 24 (2I6AIR 3060) GRS Q84INE1 2668 30° gaIdal | a9 QRIS AIEAIR BFa
Q190 689 REFIR,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 23 Question Id : 70819115896 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball with a speed of 9 m/s collides with another identical ball at rest. After the collision,
the direction of each ball makes an angle of 30° with the original direction. The ratio of
velocities of the balls after collision is x : i, where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819115896 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9m/s 696 92 6615 96, 30 AQIER QI UGN U@ 9 A2 A 69RE | URI T6Q J6SIR GRQ G99
A9 @6 Q2 30° 6R10 Q85 | ARl 06R IR 9aFR 0ACRER BQUI0 6208 x: y, 6090
: SRR .1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115897 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A hydraulic press can lift 100 kg when a mass ‘m’ is placed on the smaller piston. It can lift
- __ kg when the diameter of the larger piston is increased by 4 times and that of the
smaller piston is decreased by 4 times keeping the same mass ‘m” on the smaller piston.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115897 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

6916 AR6EIAR 699 100 kg 3599 RVIRDIEH 6I666A6R ‘m’ 93¢ F98 R 99 9AIR 6819

46 Q06 AHIAN | 6Y606R6R WA 99 J87a QUL 4 94 @;ﬁ*ﬁaam 4 49° 99 §99 adee
kg (6% Q0RQ2IGS

(o3}

-

c0% 16l 92 ‘m’ 0 Qe AR MIAQ 4 94 @R FHIAN, 2

L]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819115898 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An inclined plane is bent in such a way that the vertical cross-section is given by y = T

where y is in vertical and x in horizontal direction. If the upper surface of this curved plane
is rough with coefficient of friction p=0.5, the maximum height in cm at which a stationary
block will not slip downward is cm.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819115898 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
..
6615 2R6 986Rq F6 NNEE AW ARISIAI 64 69A0 1918 GRS gREEY ¥ = - 98

E

JeI8e 99 6AR06A ¥ YRMG 8 x §ANISA F06R A28 | 97 @ IReed Ad YIIF p=05 a9

Q90 6RIRAN, AIRR @9l 62.0.68 9RF 091 ¢ ¢d 89 Qg%
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819115899 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A resonance circuit having inductance and resistance 2 x10 4H and 6.28 0 respectively
oscillates at 10 MHz t’roquonq-‘. The value of qualit}-' factor of this resonator is

[7=3.14]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819115899 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

Qe4I9R6! 6 9ReaIM QaIKER 2x 104 H e 6.28 2 991 6815 29419 98 10 MHz 219@ea
6QIRR @Q8 | 1@ 2QRI91 (A6RI6RER) A QRE TIQa 26T _
[w=3.14]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115900 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An audio signal v =20 sin 2mw(1500t) amplitude modulates a carrier
v. =80 sin 27(100,000t).

The value of percent modulation is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819115900 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6615 99 Q69 vy, =20 sin 2w(1500t) 65160 QIR 688 (QUGZR) v =80 sin 2m(100,000t)
ge YIS FPERdR 6948
J0QQ (gERIRR Ry 629

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819115901 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In connection with the circuit drawn below, the value of current flowing through 2 k()
resistoris  x10"% A,

VA
1k0

N
2k -
| N

10V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819115901 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



967 QRILLNYL 900 2R AR, 2k QG6AI FU6R 9RIFe 9940, 6410 6208
o e IEE N

[ |

'
10V
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819115902 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 5 GHz, is travelling in a medium whose relative electric
permittivity and relative magnetic permeability both are 2. Its velocity in this medium is
%107 m/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819115902 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



5 GHz 298 g9l 18 9919-9A%1¢ 60 I8 FIUfea 86 998 J9I0 aae 2Ic0de 91e8Iee
Q° 2I6ag @ QARG UREIENG 2 Z6e

9@ fIIIFIER CAGER 696 Bl6E x107 m/s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819115903 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A common transistor radio set requires 12 V (D.C.) for its operation. The D.C. source is
constructed by using a transformer and a rectifier circuit, which are operated at 220 V
(A.C.) on standard domestic A.C. supply. The number of turns of secondary coil are 24, then
the number of turns of primary are

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819115903 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

08 600 gIFRa 626 oRel aId 12V 8.4, 2984R @6a | 6818 20V (AC) @
) Q60ia 1.4, A9IR6R SIRTRASI 68T SIRURaR 99° 6aITN 1.4, RETIAR

6616 @.9. 99 G20 RAI9RI | 99 6U6RAIRT ANAE QAR QI 24 94, 6969
0}

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Chemistry Section A
Section Id : 708191600
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191880
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819115904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following are isostructural pairs ?
A, 502" and CrO/?

B.  5iCl, and TiCl,

C. NH, and NO,

D. BCl; and BrCl,

Options:

70819152861, ‘+ and B only



70819152862, ** and C only

70819152863, ° and Conly

70819152864, © and D only

Question Number : 31 Question Id : 70819115904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e

FORYe fg 6ae §/gee AACI0NY 6P ?
A. S0,2” 98 CrO,2
B. Si(l, 49 TiCl,
C. NH;99° NO,
D. BCl, 9@° BrCl,
Options :
70819152861, A 99" B 6@9q

70819152862, * 997 C £@eq

B 4%° C 6@aq
70819152863.

70819152864, C 99" D 6@

Question Number : 32 Question Id : 70819115905 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In Freundlich adsorption isotherm, slope of AB line is :

B
T 5 /
" |E >

logP —»

Options :

n with (n, 0.1 to 0.5)
70819152865.

20819152866, 108 N With (n > 1)

Ingl with (n < 1)
70819152867. B

" Y Y
L with | 1 =0tol
I

70819152868. ™ 4

Question Number : 32 Question Id : 70819115905 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CUENEE TNEHISS Q6T 6adca AB 6o 69T 6LRE :

B
T ;"\/
%‘D -
logP ——
Options :

70819152865, with values (0.1 to 0.5)



70819152866, 1081 Withn >1

Iﬂgl withn <1
70819152867. =

> .
- with 9 =0to 1
70819152868.

Question Number : 33 Question Id : 70819115906 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the elements Mg, AL S, P and 5i, the correct increasing order of their first ionization
enthalpy is :

Options:

70819152869, M <Mg<Si<S5<P

70819152870, Mg <Al <Si<P<S

20819152871, Mg <Al<Si<S<P

70819152872, Al<Mg<5<5i<P

Question Number : 33 Question Id : 70819115906 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mg, AL S, P 4% Si 6(10% g5q 3910 98 6erIeea gaa 2a¢ead gdeia @ a0] 986 2
6068

Options :

70819152869, Al <Mg<Si<S<P



70819152870, Mg <Al <5i<P <5

70819152871, Mg < Al<Si<S<P

70819152872, Al<Mg<5<5i<P

Question Number : 34 Question Id : 70819115907 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following ore is concentrated using group 1 cyanide salt ?
Options :

70819152873, Calamine

70819152874, Malachite

70819152875, ~iderite

70819152876. Sphalerite

Question Number : 34 Question Id : 70819115907 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g9 1 @ NS A9 MIYQ AF FAYe 6aa §9T0aefq ARe AU ?

Options:

70819152873, I/ WICIGE,

70819152874, ' w/aIGIS,

70819152875, 2IREEAIES



70819152876, 3ERGIEE

Question Number : 35 Question Id : 70819115908 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+H,0, - H,O*+Cl~ +0,
Choose the correct option.
Options :
70819152877 H,0O, acts as oxidising agent in equations (A) and (B).

70819152878. H,0, acts as reducing agent in equations (A) and (B).

20819152879. H,0, act as oxidizing and reducing agent respectively in equations (A) and (B).

70819152880. H,0, acts as reducing and oxidising agent respectively in equations (A) and (B).

Question Number : 35 Question Id : 70819115908 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(A) HOCI+H,0, - HyO0* +Cl~ +0,
(B) 1L,+H,0,+20H =2~ +2H,0+0,

Options :

H,O, @I9% 98 aa1aad (A) 9 (B) 62 @Il Q8.2
70819152877. = -

70819152878, H,0, @@« a8 9a1aed (A) 9e° (B) 60 @Ifl @82l



o

H,0, 9I6@ 1&° 29I09 QIR JAFEA ARG (A) 99° (B) 68 QIf @R2lg

70819152879.

H,0, 80i0a 9e° FI09 Q16 J2Ig6F asaad (A) 4e° (B) 60 @Ifl @feld
70819152880, 2 2

Question Number : 36 Question Id : 70819115909 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL O, was leached with alkali to get X. The solution of X on passing of gas Y, forms Z.
X, Y and Z respectively are :

Options:

20819152881, ~— NalAl(OH)], Y=50,, Z=AL0,

70819152882, = AlOH);, Y=50,, Z=AL,0;.xH,0

70819152883, ~=AlOH);, Y=CO, Z=AlL0;

70819152884, < NalALOH)y], Y=C0O,, 2=AL05xH0

Question Number : 36 Question Id : 70819115909 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ALO, g 81965 QT [6w X ea 1Y HIgR X 99460 99100 a6m Z 609 241 X, Y 9e° Z

a6y YR :

Options :

20819152881, <= NalAL(OH)], Y=50,, Z=AlL0;,

70819152882, <= AlOH);, Y=50, Z=AL0;2H,0



70819152883, X = Al(OH);, Y=CO, Z=AL0,

X=Na[Al(OH),], Y =CO,, Z=Al,0..a2H,0
70819152884. a[A(OH),] 2 203xHy

Question Number : 37 Question Id : 70819115910 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The electrode potential of M2+ /M of 3d-series elements shows positive value for :
Options :

70819152885, Fe

70819152886, €O

70819152887, 2™

70819152888, Cu

Question Number : 37 Question Id : 70819115910 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3d 46w 6717@ AIRTR QERERE Gae M** /M oA (Al 69¢M il d @ ?
Options :

70819152885, Fe

70819152886, €O

70819152887, 2™

70819152888, Cu



Question Number : 38 Question Id : 70819115911 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components in “Gun Metal” are :
Options :

70819152889. Cu, Sn and Zn

70819152890, “u. Zn and Ni

70819152891, Cu Niand Fe

70819152892. Al, Cu, Mg and Mn

Question Number : 38 Question Id : 70819115911 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘U8 6ICIR A F8Y RUIDIS gER CERR :
Options:
70819152889, &t Sn 96 Zn

70819152890, C1 £1 49" NI

70819152891, —t Ni&” Fe

70819152892, 1 Cu, Mg 4&" Mn



Question Number : 39 Question Id : 70819115912 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The gas released during anaerobic degradation of vegetation may lead to :
Options :

70819152893, #icid rain

70819152894. Global warming and cancer

70819152895. Corrosion of metals

70819152896, ©zone hole

Question Number : 39 Question Id : 70819115912 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

PORIG U OT060 CRFEEIANE BORE 6960 G0 SNIY §oFl 6aaal

Options :
70819152893, % @4

iy iy '}l:.}"“-'_ Ao _-P":.:" ""l
70819152804, CHEIR GIA16L 09" R

70819152895, &€ ©eda

Baa @6
70819152896.

Question Number : 40 Question Id : 70819115913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which of the following compound gives pink colour on reaction with phthalic anhydride in
conc. H,SO, followed by treatment with NaOH ?

HO
_ OH

Options :

70819152897

70819152898
CH,
70819152899

CH,

HO OH

”‘:’:J@(\/

HO CHs,
70819152900. 7

Question Number : 40 Question Id : 70819115913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=]

f0Rge cau edlide Q10 HS0,60 AR 192I0g0e @@ 9o afel a6 NaOH % 6419
Q6R 6EIRIT Qe ca@elg ?

HO

Options :

70819152897.

70819152898.



}4T:::I::::I::xxaffﬂjiﬂ

70819152899. HO OH
O CH,
70819152900. -

Question Number : 41 Question Id : 70819115914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH CH
NN, 7

What is the major pmduct formed b}-’ HI on reaction with

CH,
CH;
Options :
CHg
CH;—C— CH—— CHLI
70819152901, CHp H
CH,
CH; —C— CH— CH,
1 CHj
70819152902. i

70819152903.



CH;—C—CH—CHj,
CHj; 1
CH, CH CH CH, CH,4
70819152904 kL '

Question Number : 41 Question Id : 70819115914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH; ,~CH . o
- o2 QE*CHzgﬂI{[g@@a @8 6a9 M QIe G218 QFa 7
/" d,
CH;
CHj,
Options :
CHj
CHy—C—C CH,I
70819152901, CH; H
CH;
CH; —C—CH— CH;
I CH,
70819152902.
CH,
CH;—C—CH— CH;,
CH; I

70819152903. 3



CH3 — CH — CH—CH,— CH,

o

70819152904 s

Question Number : 42 Question Id : 70819115915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following reagent is used for the following reaction ?
?

CH3CH,CHy ——> CH;CH,CHO

Options:

20819152905, Copper at high temperature and pressure

70819152906, Molybdenum oxide

70819152907. Manganese acetate

Potassium permanganate
70819152908.

Question Number : 42 Question Id : 70819115915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH3CH,CH, by, CH,CH,CHO i9l 5740 600 28a0a QI981a aRIa ?
Options :

70819152905, @@ QARG 9&° QlAeR el @Ual

70819152906, S¥1IMEE 2QIEE,

. E;I _;' ASe
70819152907, (e LEEE



A Gf ARFIGHERE

70819152908.

Question Number : 43 Question Id : 70819115916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The product formed in the first step of the reaction of

Br
|
CH; —CH,—CH—CH, —CH—CHj; with excess Mg/Et,O(Et=C,Hx) is :
|

Br
Options :
CH;—CH,—CH—CH,—CH—CHj
CH;—CH—CH,— CH—CH,—CH,
70819152900. .
CH,
cr—cn |
70819152910. CH— CHy
CH;— CH,—CH— CH,— CH— CH,
CHy = CH;— O - OHs=—CH-~CHj
70819152911. 2 :
E-'IgBr
|
CH,CH,—CH—CH,—CH—CHj,
|
70819152912. MgBr

Question Number : 43 Question Id : 70819115916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Br

|
CH; —CH,—CH—CH,—CH—CH; § 24% Mg/EL,OEt=C,H:) @2 98@2I @6 gas
|
Br

6Q10I96R (9891 eQIQF 69R8

Options :
CH;—CH,—CH—CH,—CH—CHj
CHa— CH—CHy—CH—CH,—CH
70819152909. 3 2 2 3
CH,
cH,—cHL
70819152910. CH— CH,
CH3— CH,—CH—CH,— CH— CH,
CH;— CH,— CH— CH,— CH—CH,
70819152911. & :
E-'IgBr
|
CH,CH,— CH—CH,— CH—CHj
|
70819152912. MgBr

Question Number : 44 Question Id : 70819115917 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the final product (major) ‘A’ in the given reaction ?

OH
CHj,

CH
e [, —Hd ' AT
(major product)

Options :

70819152913.



Cl

CH,
CH
\M“{Hﬂg
CH,
70819152914,
CH,
CH
xﬁ“c113
70819152915,
CH,
€l
CH,— CHj
70819152916.

Question Number : 44 Question Id : 70819115917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q6 go@aen 23A Ay aged ‘A’ § Qd ?
. OH
CHs

5 |
= HCl

(__ Hﬁ e

) i

(a8 29IQ)

Options :

70819152913.



Cl

CH,
CH
\M“{Hﬂg
CH,
70819152914,
CH,
CH
xﬁ“c113
70819152915,
CH,
€l
CH,— CHj
70819152916.

Question Number : 45 Question Id : 70819115918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify products A and B.

CHj;
dil. KMnOy CrO,
— 3> A —» B
273K

Options :

CH,

CH, :
OH O

70819152917.



CHa CH,

A OH B: OH
70819152918. OH O
CH; CH,4
O™ w0C
70819152919. OH O
O 0
[ I
A : OHC —CH,CH,CH,—C-—CH. B : HOOC-—CH,CH,CH,—C—CH
70819152920. e 3 2CHyCH, 3

Question Number : 45 Question Id : 70819115918 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q9 A99°B g 5912 :

CH,
ﬂ/ dil. KMnO, CrO;
273K A 4
Options :
CHs CH,4
A OH B: QQ
70819152917. OH O
CHa CH,
A: OH B: QQH
70819152918. OH O
A B:
OH X0

70819152919.



O O
I I

A : OHC —CH,CH,CH,—C-—CH. B : HOOC-—CH,CH,CH,—C—CH
70819152920. e 3 2CH,CH, 3

Question Number : 46 Question Id : 70819115919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the foﬂowing reaction the reason wh}-' miela-nitro product also formed is :

NH, NH, NH, NH,
. NO,
Cone. HNO,
T e i
Conc. H:ﬁ(_}4, 288 K
NO,
NO,
[A] [B] [C]
51% 47% 2%
Options :
70819152921, NH, group is highly mela-directive
— NO, substitution always takes place at meta-position
70819152922. = 5

70819152923, Formation of anilinium ion

low temperature
70819152924,

Question Number : 46 Question Id : 70819115919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



NH, NH, NH, NH,

NO,
Conc. HNO,
Cone. H,50,, 288 K~ T i
NO,
NO,
[A] [B] [C]
51% 47 % 2%

RO FYe goRaIea MEF A6 FIR6EI QYD F PR 29, QG 62T :

Options :

4 1 il
20819152921, NH, 2@ 6761 A9l

~NO, 6781 560 9991 950 a9
70819152922. 2 2

P ]

70819152923, Zi@w@E glids €OF

70819152924, “Fl €/LAIE

Question Number : 47 Question Id : 70819115920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘A’ and ‘B’ in the following reactions are :

NH,

NHHDEII{CI {1'51} SnC'I}fIICIJJ’IISDJ'
_—
KCN

r 4

Options :

N
N,ClI Cl

(A): (B) :

70819152925.



N,Cl CHO
(A): (B)
70819152926,
CN Cl
(A): (B) :
70819152927,
CN CHO
(A): (B):
70819152928,

Question Number : 47 Question Id : 70819115920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

G gogalea ‘A’ 99° ‘B’ a8l :

NH,
NaNO,/HCL  ,, Sn Cl,/HCl/H,0* B
—xkan W > (B)
Options :
+ =
N,Cl Cl
(A): (B) :

70819152925.



N,ClI CHO
(A): (B)
70819152926,
CN Cl
(A): (B) :
70819152927,
CN CHO
(A): (B):
70819152928,

Question Number : 48 Question Id : 70819115921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List IL.

List 1 List 11
(Monomer Unit) (Polymer)
(a) Caprolactum (i)  Natural rubber
(b) 2-Chloro-1,3-butadiene (i) Buna-N
(c) Isoprene (iii) Nylon 6
(d) Acrylonitrile (iv) Neoprene

Choose the correct answer from the options given below :
Options:
70819152929, @ = @, (b) — (i), (c) — (i), (d) — (iv)

70819152930, @) = (i¥), (b) — (iii), (¢) — (i), (d) — (i)

70819152931, @) = (i), (b) —= (i), () — (i), (d) — (iii)



70819152932, (@) = (iii), (b) —= (iv), (c) — (i), (d) — (ii)

Question Number : 48 Question Id : 70819115921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ARl 1 @ eIaxl 11 980 A2 .

=[=1] | QAR 11
(FleqIe1a ) (A@e)
(a) @IEINQE () g a9
(b) 2-6Ql681-1,3-945'1LIRS (i) 9FI-N
() alLeagde (i) @RS 6
(d) PIFERIFAGIER (iv) @ede
GoRge 9wge 909 LEad Qg :
Options :
70819152929 (@) —= (i), (b) — (ii), (¢) — (iii), (d) — (iv)

70819152930. (@) — (iv), (b) — (iii), (c) — (ii), (d) — (i)

70819152931, @) = (i), (b) — (i), () — (iv), (d) — (iii)

70819152932, (@) = (iii), (b) = (iv), (c) = (i), (d) — (ii)

Question Number : 49 Question Id : 70819115922 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Out of the following, which type of interaction is responsible for the stabilisation of a-helix
structure of proteins ?

Options :
70819152933, vander Waals forces



70819152934 Covalent bonding

70819152935, lonic bonding

70819152936, Hydrogen bonding

Question Number : 49 Question Id : 70819115922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GORYe g 694 UI9YEa GAIF 69ITRA AR 62R9 2IR0R a0l QIR Qa1 ?
Options :

70819152933, S9€AIAE a9

70819152934,

70819152935,

70819152936, - C2/6E% @

Question Number : 50 Question Id : 70819115923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  Colourless cupric metaborate is reduced to cuprous metaborate in a luminous
flame.

Statement II :  Cuprous metaborate is obtained by heating boric anhydride and copper
sulphate in a non-luminous flame.

In the light of the above statements, choose the most appropriate answer from the options
given below.

Options :



70819152937, Both Statement I and Statement Il are true

70819152938 Both Statement I and Statement 11 are false

70819152939. Statement 1 is true but Statement 1I is false

70819152940. Statement 1 is false but Statement Il is true

Question Number : 50 Question Id : 70819115923 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Geea Qa8 990 GuKIPR :
QP I:  qQfieq 2gdden aefe QIR EACIERIcae GRG0 601Q QIGAEASIERIEas, &9 |
Q0 I1: 690Q URLINEIAS I9° IR IRNCUC] 9@ 78 AARY 2GIIea 289 @R 199
6EICIER1606 F160 |
QUERI9 G906 AQaIea AARYE Gag AUy A0R eeE QI8 -
Options :

-

70819152937, =

)

Q0 1 99° @96 11 eag Aoy

70819152938, @90 1 99" @@ II Gew Bdo
Q6 1 9o @a I8 11 2asy

70819152939.

998G 1 zagy g G996 11 Qs
70819152940. &

Chemistry Section B

SectionId : 708191601



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191881
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819115924 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4.5 g of compound A (MW=90) was used to make 250 mL of its aqueous solution. The
molarity of the solution in M is xx 10 | The valueofxis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819115924 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

250 (iR fean 1@ 89

10 Q¢ Qg 45 gif 6Jde A Q1926 24 | 99 2999 CAINEGE M 68
6908 xx107 1 1xQ ey 6908 | (94 °¢M60 999)

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819115925 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coordination number of an atom in a body-centered cubic structure is __

[Assume that the lattice is made up of atoms.|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819115925 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9@ 699G QITRED IR JefI€e BY ARUERR D¢ ERE
(RITYE 9afIg6ea S0 628 6IIR g2 @)

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819115926 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

A proton and a Li®* nucleus are accelerated by the same potential. If A;; and A, denote the
de Broglie wavelengths of Li*t and proton respectively, then the value of 2L s xx1071

h}"
Thevalueof xis . (Rounded off to the nearest integer)

[Mass of Li** =8.3 mass of proton]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819115926 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@ 69167 49 Lidt @09 9019 999 90l g6 @algnl | 9@ Li*t 9e° 6dIeqa @6alqla

i =}

oas 6044 QRIREA A, 19° A, 223 GI6R6R M g g 6208 xx1071 | x @ gAY 629
Ap

__________ (Fac0n gdadicn aes)

(Li**e @29 =83 601698 929)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819115927 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



For the reaction A ) By, the value of the equilibrium constant at 300 K and 1 atm is equal
to 100.0. The value nt A ébfor the reaction at 300 K and 1 atm in ] mol ! is — xR, where x is
i _. (Rounded off to the nearest integer)

[R=8.31] mol 'K~ ! and In 10=2.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819115927 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

J

300 K 99° 1 9eaqduase 9&@ g9oad Ag} ( g & ALY QISR FRY 100.0 @2 208
300 K ¥ 1 9601q2060 09 g85aa A,G @ gay ] mol~16a 6298 —xR | 6060 x 6208
S (gderay eeq)

(R=831] mol 'K~ !and In 10=23)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115928 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 9.45 g of CICH,COOH is added to 500 mL of water, its freezing point drops by (.5°C.
The dissociation constant of CICH,COOH is x X 10 3 Thevalueofxis . {Rounded
off to the nearest integer)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115928 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

=

666660 9.45 giFl 6QIEANEER 2e) 500 FRRCE FR6a FalLN
QAN | 6R/6a1A5R 270 24 Jawaed Boiw 6008 xx 1073 I x
(Gaceq g4 aau)

(KﬂHsz 1.86 K kg mol )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819115929 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

At1990 K and 1 atm pressure, there are equal number of Cl, molecules and Cl atoms in the
reaction mixture. The value of K] for the reaction LIv ?LI under the above conditions
is tx10" !, The value of xis = . (Rounded nll}f to the neare-at integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819115929 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
1990 K 4&° 1 atm 91068 &9l goGaldin Hga6a ane i@ Cl, 2g 9e° Cl g

4eaa LIE({:} = ZLI(E} 6 wUeRlT UIHIER KP o fm 6808 rx10-1 1 x @ lmY 6Raa

I (ggae 9ee)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819115930 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
The reaction of sulphur in alkaline medium is given below :
S(sta OH™ aq)
The valuesof ‘a’"is . (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819115930 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

ARTOe NG AIRIFER doF FFea YRIUAE :

Sg(s) +a OH (ag) —> b §? (ag) T€ 5,042 (ag t d H,Oy,
‘a’ @ Py 6208 _ | (gderaiien a99)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819115931 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Gaseous cyclobutene isomerizes to butadiene in a first order process which has a 'k’ value of
33%10~%s~1at 153°C. The time in minutes it takes for the isomerization to proceed 40% to
completion at this temperature is __. (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819115931 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@ 420 QF gR 9160 AACRYIEER QY AFINN1R0d 6216 QISISIRG 61K g@sa Q‘k' @
@4 153°C 6233x 10745~ | QE6AI8 QIBRAIGIER ANSOSTRAE 40% 24 F5SI OIR AISMAIG
Ane 5660 6888 _ (Geeen gdasanea 08ee aa)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819115932 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Number of amphoteric compounds among the followingis .
(A) BeO (B) BaO (C) Be(OH), (D) Sr(OH),
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819115932 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

GORWe oug aegudl cdfRgERe Ao cea8

(A) BeO (B) BaO (C) Be(OH), (D) Sr(OH),
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 60 Question Id : 70819115933 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The stepwise formation of [Cu(NH,) 4]2 " is given below :

Cu®* + NH; == [Cu(NH3)[**

. - A4 Ks s +
[Cu(NH;)]™" + NH; == [Lu(NH;;lzJE

. o K- -
[Cu(NHy )| + NHy == [CU{NHLS]L!JE

[CU(NH:H;SF* F NHj S |Cu(NH; 34]2*

The value of stability constants K, K,, K, and K are 104, 1.58 x10%, 5x10% and 102
respectively. The overall equilibrium constants for dissociation of [Cu(NH,) 4]2* isxx10-12,
The value of x is (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819115933 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



[Cu(NH,),]** 9064 62101996 7¢6a D218

Cu®* + NH; == [Cu(NH3)**

. " g K 2 +
[Cu(NHg) ¥+ NHy =2 ltutNH:anJz
[CU[NHLS)ZJE* + NHy === [Cu(NH,) ]

[Cu(NHy)s ' + NHy ==4= [Cu(NH,), |*
el gais K, K,, K; 9e° K, caiger 104, 1.58 x10%, 5x102 9° 102 | [Cu(NH,),?* @ 2q

Q19948 6A19 AR §aie xx 1072 | x @ ¢y 6208
(Gcen gdadien eeq)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
Section Id : 708191602
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required?: Yes
Sub-Section Number : 1

Sub-Section Id : 708191882



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819115934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

ra | =

Let f: R — R be defined as f(x)=2x-1and g: R — {I} — R be defined as g(x) =

=1

Then the composition function f(g(x)) is :

Options :
70819152951, ©ne-one but not onto

70819152952, onto but not one-one

70819152953 neither one-one nor onto

70819152954 both one-one and onto

Question Number : 61 Question Id : 70819115934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=
3 | =

Q69 9dal eaua,

(ee@a f: R - R @ f(x)=2xr-19° ¢:R - {1} = RQ g(x)= 1
X

606Q edide e f(g(x)) 26Q -
Options :

49 @ @
70819152051, @ I@ @Q ARG, gL

20819152052, RS UEE @ 1Q-9Q Q6L

N@-9Q Q6% Q9 AR Q6L
70819152953,



el 99-49Q G ARG
70819152954.

Question Number : 62 Question Id : 70819115935 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let p and q be two positive numbers such that p + =2 and p4 | q4: 272. Then p and q are
roots of the equation :

Options :

5.4 i o
70819152955, ¥~ 2x +136=0

iy e L
70819152056, * X 116=0

2 ; £
70819152957, ¥ 2x+18=0

2 e LD —
70819152958, ¥ X 12=0

Question Number : 62 Question Id : 70819115935 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

76590 p 6 q 980 g9 g 60988 p+q=2 9> ptiq?=27216069 p 8 ¢ 9@ (a9) 2
ANRRET :

Options :

54 i i
70819152955, ¥~ 2x +136=0

3 Ny L
70819152056, * X 116=0

Bl i
70819152057, ¥ 2x18=0



e
70819152058, *  2X 12=0

Question Number : 63 Question Id : 70819115936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The system of linear equations
3x—2y—kz=10
2x —4y—2z=6
x+2y—z=50m

is inconsistent if :

Options :

70819152959.

70819152960.

k=3 m=# _
70819152961. "

+ 3
70819152062, & * & meR

Question Number : 63 Question Id : 70819115936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



R Rl CETweE E]?l@
3x Ey kz=10
2x—4y—2z=6

x+2y—z=>5m

PG P6G G -
Options :
k3, m+ i
70819152959, e
k=3 m= i
70819152960. 7
k=3 m ,—Li
70819152961. i
+ 3
70819152962, ~ = meR

Question Number : 64 Question Id : 70819115937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of

g, & o0y « 30E & new 1500 4 ME 4 We 5 YOy &b My e
Options :

70819152963, 201

70819152964, 27~ 14

70819152965, 2~ 13

~14
70819152966. =~



Question Number : 64 Question Id : 70819115937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e (w26 :
Options :

716 1
70819152963. <

70819152964, 27~ 14

70819152965, 2~ 13

~14
70819152966. ~

Question Number : 65 Question Id : 70819115938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.3 ] i
|c:s.ﬂa'x+mﬁ4:+\w' rt..m|log,

If e " satisfies the equation t2-9t+8=0, then the value of

2sinx T .
L o e M D{.l'{_ 15:
sinx+ v3cosx 2

Options:

M| =

70819152967.

70819152968. V3

MW

70819152969.



w1

70819152970, V-

Question Number : 65 Question Id : 70819115938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

af el o0 2-9t+8=0, q @9 Q6m, 6069
e [O{I{EZJGIQRNHEG:
sinx + v3cosx\ 2
Options:
1
70819152967. 2

70819152968. V3

K|

70819152969.

E
:_ﬁ;.'l

70819152970.

Question Number : 66 Question Id : 70819115939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

lj [ Hin\.'"t- ] dt

; 0 ‘
lim————— isequal to:
x—l x

Options :

wW|N

70819152971.

70819152972.



IEXY

1
70819152973, 12

70819152974. 0

Question Number : 66 Question Id : 70819115939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

51N \,.'1:. dt
J(sinVt)

li 0 ;
lim =—5—— QM e
Options :

2
70819152971. 3

3

;
70819152972. =

1
70819152973, 12

70819152974. 0

Question Number : 67 Question Id : 70819115940 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3 2
; 4x - :
The function f(x)= ——— — 2sinx+ (2x— 1) cosx :



Options :

._l J

Imncreases in [

2

70819152975.

1
decreases in [E' '”J
70819152976.

1
Increases in ( i

R

70819152977.

| I

decreases in ( o3, _jl
70819152978.

Question Number : 67 Question Id : 70819115940 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 2
"%
aea f(x) = <. iiinall. 2sinx+ (2x — 1) cosx

:

Options:

I3

: mJ PI2RIRER &Y
70819152975.

1
[Er “J d0lnee Qdig

70819152976.

1 P
( e E} d2Rlnet @TE
70819152977.

1
[ 2 Eil dRlnes Qs

70819152978.



Question Number : 68 Question Id : 70819115941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A scientific committee is to be formed from 6 Indians and 8 foreigners, which includes at
least 2 Indians and double the number of foreigners as Indians. Then the number of ways,

the committee can be formed, is :
Options :
70819152979, 1050

70819152980, 1622

70819152981, 260

70819152982, 575

Question Number : 68 Question Id : 70819115941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6 94 SIR0IA B 8 94 FERNT F1IG IR ARIFR AT G0 AAUIDQ, QI9I F1kIER ADRFER 2 R4
Q16019 8 RIRG10F A°UIA 204 F6241 2GS | 6669 QAT CRIARAURAR ARG LYl 26T :

Options :

70819152979, 1050
70819152980, 1022

70819152981, 260

70819152982, 975



Question Number : 69 Question Id : 70819115942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Iff:R — Ris afunction defined by f(x)=[x 1] cos( 21_} l}:r,where -] denotes the greatest

ra

integer function, then f1is :

Options:

70819152983, discontinuous only at x=1

20819152984. discontinuous at all integral values of x except at x=1

70819152985, continuous only at x=1

continuous for every real x
70819152986. 2

Question Number : 69 Question Id : 70819115942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2x

@@ f: R = R 9@ 9999 f(x)=[x~1] cos[ : 1}:.?, ([] @ 28 9@ adye gdeeay aee)

4298 994 QRIUN, 6069 TR [T :

Options:
70819152983, 6@ x=1 Olet FLeER 6w [Qgﬁ.")

- — = - i = e E“lu o
70819152084, S99 ¥=1 q 8% x @ A3 gd M AIOIEQ PR 46 (981)

70819152985, ST9® ¥=1 068 Fa9ER 26C (URR)



1 @ 9719 Q99 el did Fe9pR 2o (2Tge
70819152986, g " (2eg%)

Question Number : 70 Question Id : 70819115943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 3 i F A y T
. fCOSX — sInX . 1/ sinx+ cosx 7 i ;
[f —’—_dx = asin IJ —— " | + ¢, where c is a constant of integration, then
V8 — sin 2x \ b )

the ordered pair (a, b) is equal to :
Options :

70819152987, & 1)

70819152988, (1 3)

70819152989, (1 3)

“;
70819152990. L

Question Number : 70 Question Id : 70819115943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. i i r (e " ) o .
of [BX_ STy asin”!| SRETCBT )  gadoien ¢ @ QaIae B0IE, 6669 480
Y8~ sin2x \ b )
61 (a, b) QAR
Options :
70819152987, 1)

70819152988, (1 3)

70819152989, (1. 3)



q
70819152990. Lt

Question Number : 71 Question Id : 70819115944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the part of the circle % y2=36, which is outside the parabola

J ] s
y-=9, is :

Options :

70819152991, 247 + 343

70819152902, 247 — 343

70819152993, 127 + 33

21 '?,ﬁ

=

70819152994,

Question Number : 71 Question Id : 70819115944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
22 +y2=36 QRER 28R 6850 (96 1RRER), A1 ¥ =% AN FPWNE, 6T :

Options :

70819152991, 247 + 343

70819152902, 247 — 33

70819152903, 127 + 343



70819152994, 127 — 3V3

Question Number : 72 Question Id : 70819115945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The population P=P(t) at time ‘t’ of a certain species follows the differential equation

dp
i 0.5P — 450. If P(0) =850, then the time at which population becomes zero is :

Options :

log 9
70819152995,  oe

1
;IogFlS
70819152996. ~

log 18
70819152997,  oe

EIDBP 18
70819152998.

Question Number : 72 Question Id : 70819115945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= dP et s 2
aag ‘Y 60 9@ 9168 92°¢ P=P(t), = 0.5P - 450. Qeieedeq AIFer | 9@ P(0) =850,
6969 6915 2NG, 0% AADER FFAYY R 629, IR 6P :
Options:

log 9
70819152995,  oe

1
;Ingﬁlﬁ
70819152996. ~



log 18
70819152997,  oe

ZIDBP 18
70819152998. '

Question Number : 73 Question Id : 70819115946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A manis walkj_ng on a straight line. The arithmetic mean of the rocipmcals of the intercepts

1
of this line on the coordinate axes is 1 Three stones A, B and C are placed at the points

(I, 1), (2 2) and (4, 4) respectively. Then which of these stones is/are on the path of the
man ?
Options:

70819152999, * only

70819153000, B 0Ly

C only
70819153001. §

70819153002. All the three

Question Number : 73 Question Id : 70819115946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
966 6RIR 9@ AARERH A06R SINAE | AT (6RIUFERE) U 926a Y@ IR 6aHIQ 68N°d

o = 1 R
AIGeR goeaIan il QAER AAIRe AIKFIS (FQ) 1 266 | BR6lIc gaa A, B 8 C g QaIgeq

(1,1),(2,2) 8 (4,4) 39 1965 AYICIEE | 6069 CARAMIRG F1G 6AR6EIT| §FR 6RIGEER GRILEA

adg ?



Options :

e@ew A
70819152999.

70819153000. el

70819153001, £9® C

arg GeslT
70819153002.

Question Number : 74 Question Id : 70819115947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The locus of the mid-point of the line segment joining the focus of the parabola y*=4ax to a

moving point of the parabola, is another parabola whose directrix is :
Options :

70819153003. * — 4

da

X= - —

70819153004. 2
70819153005, ¥ =Y
.
70819153006. 2

Question Number : 74 Question Id : 70819115947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ARIERIRI 1> =4ax § 6TRY 8 ARICRINR AUCA P FRFIRAL 1@ FLQ 628 @RAF 60D
QR0 °0IQ J8 (6RIRY) U9Y 9a dIflelal A2k FAIKR 604l (QIR6058) U6e :

Options :

70819153003, * =42

da

xX==-—

70819153004, 2
70819153005, ¥ =Y
a
X =—
70819153006. 2

Question Number : 75 Question Id : 70819115948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the tangent to the curve y=x> at the point P(t, t*) meets the curve again at Q, then the

ordinate of the point which divides PQ internally in the ratio 1: 2 is
Options :

70819153007.

70819153008. <*

708191530009.

70819153010. =~

Question Number : 75 Question Id : 70819115948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



P(t, ) 3268 y=1° 9Q6adl g6 20 4@ 0@ adIR 996asig Q 99 0I6a Fd0 84, 6069
609 99 PQ Q 1:2 2Q0I06R 2986RY A6R QI2IR § -ANE (AFERS) 266 :

Options :

70819153007.

70819153008. <*

708191530009.

70819153010. =~

Question Number : 76 Question Id : 70819115949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane passing through the point (1, 2, ~3) and perpendicular to the

planes 3x+y—2z=5and 2x-5y-z=7, is :
Options :

70819153011, 0% Sy +2z+10=0

Ilx+y+17z+38=0

70819153012,
3 .
70819153013, 0% %Y 2 0
_ g v
70819153014, X 10y -2z +11=0

Question Number : 76 Question Id : 70819115949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



39 (1,2, -3) kI 690 60 9QARI 6 3x+y—22=5 98° -5y 2z=7 AFGR Q4R AR 6L
AFIOREA AFGRd 6 :

Options :
70819153011, 0% Sy +2z+10=0

70819153012, [1x ty +172138=0

70819153013.

70819153014, 2% 10y~ 2z +11=0

Question Number : 77 Question Id : 70819115950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance of the point (1, 1, 9) from the point of intersection of the line

B p il

'11 :J:. = and the plane x +y+2=17 is :
Options:

70819153015, 219

70819153016, 192

70819153017, V38

70819153018, 0

Question Number : 77 Question Id : 70819115950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



.x 3 y-4 =z-5 ” -
sl — =J7 = —— ¥ Q69 x+y+2=17 @ 689 3¢ 0i9 &9 (1,1,9) @ 9p8

aeg' :
Options :

70819153015, 2v19
70819153016, 192

70819153017. V38

70819153018, -0

Question Number : 78 Question Id : 70819115951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ordinary dice is rolled for a certain number of times. If the probability of getting an odd
number 2 times is equal to the probability of getting an even number 3 times, then the

probability of getting an odd number for odd number of times is :

Options :

70819153019. *

70819153020.

70819153021, 16

1
70819153022, 2



Question Number : 78 Question Id : 70819115951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4@ AR aaqi0q G2 5de 90 TId GPia duIGAl | 98 2 2e Agg ey fdel (aeel)a
QRIGL, 3 2R @9 ay (P6! AAING! A9 QAIR, 696 ALY TR TSAIRE diE, Y@ 29
Q@i AGQIQ QRIS 26T

Options :

70819153019. -

70819153020.

70819153021, 16

M| =

70819153022.

Question Number : 79 Question Id : 70819115952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two vertical poles are 150 m apart and the height of one is three times that of the other. If
from the middle point of the line joining their feet, an observer finds the angles of elevation of

their tops to be complementary, then the height of the shorter pole (in meters) is :
Options :

70819153023, 2

70819153024. ~

70819153025, 20v3



70819153026, 25V3

Question Number : 79 Question Id : 70819115952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q@c gaa ¢AQ 150 68 906160 QHIFIAR Y&° 6EITRE Q96! ARITA 3 g4 | U8 CaRIRE QIR
39Q 60I8 QY 6adIa AT §Q0I6A P66 2R, 67 HANGER A1 T390 AEARR 6RE 97
A8 Q6R 64 627IER J09R UFYRR (HRACAGIAN), 6069 AR EATE BTGl (F6R6R) U6E

Options :

70819153023, 2

70819153024, >0
70819153025, 20v3
70819153026, 25V3

Question Number : 80 Question Id : 70819115953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement among the following that is a tautology is :
Options :

70819153027, (A VE)

70819153028, * ¥ (A~ B)

70819153029, [A~(A—=B)]—=B

70819153030, © LA (A= B)]



Question Number : 80 Question Id : 70819115953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GC6a 89l 98 AIRE fU6R, U9l 9@ geas (T60I6RIT) 26s 699 :

Options:

70819153027, * (A VvV B)

70819153028, -+ ¥ (A~ B)

70819153029, |A~(A—=B)]—=B

70819153030, © LA (A= B)]
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Question Number : 81 Question Id : 70819115954 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the least and the largest real values of «, for which the equation z+ «z—1|+2i=0

z€Candi=+-1) has a solution, are p and g respectively; then 4(p* + g% is equal to
p q resp ] pTq q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819115954 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9@ o 6 Q93¢ ¥ QIR QILQ Y QRUIREF p 8 q 29, 696 QIR ANRAE 2 +alz— 1] +2i=0
(zC, i ='ﬂ) Q 9@ QAR AR, 6069 4(p>+gH Qe |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115955 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let B, (i=1, 2, 3) be three independent events in a sample space. The probability that only
B, occur is o, only B, occurs is  and only B, occurs isy. Let p be the probability that none of

the events B; occurs and these 4 probabilities satisfy the equations («—2p) p=af and

P(B,)

(B~ 3y) p=2fv (All the probabilities are assumed to lie in the interval (0, 1)). Then m is

equal to ___
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115955 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A60aa 49 AW 6996 B, (i=1,2,3), 3 6dIf QIR (R6860684) @04l | B, 204l 95919
QRING! o, B, 06 AT ARSI B B B, 20EI AT ARLYE! v U6S | 6R1ET @64l By, B,, B,
¢ Q0QIQ ANGI p 9e° 1@ 4 6EIT ARUNG ANRAE (a-2B) p=ap I (B-3y) p=2py

P(By)

de Qe | (AIF QAN 60 QA8 QRAIQYSI (0, 1) BRAUR FER 962) | 6069 P(B1)

7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819115956 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



e
Let P=12 0 «f, where acR. Suppose Q=[ q.] is a matrix satisfying PQ =kI, for
3 -5 0
k 5 9 .19 :
some non-zero ke R. If 3= g and Q = oo thena”tk isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819115956 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 -1 -2
A6eaa P=|2 0 «, 6090168 acR | Q=[g;] ®@ AgY 6908 PQ=KI; (k 6al6< @
3 -5 0

4

i

z k k
PG Q9 eI) 99 qu= g ® Q= -, 6060 el+kieqam

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819115957 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let M be any 3 x3 matrix with entries from the set {0, 1, 2}. The maximum number of such

matrices, for which the sum of diagonal elements of MM is seven, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819115957 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Aeaaa 626 {0, 1,2} @ @QIQIes 668 M 9@ 3x3 AIge | AI§e MTM @ QIR6AIRR KaIIe
AIREQ QA8 7 62026, 10ad I M G218 Qfeiq QIINQ ey 68 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819115958 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let A={neN:nisa3-digit number }
B={%+2: keN}
and C={9%+]: keN} forsomel (0<]<9)

If the sum of all the elements of the set A M (B C) is 274 x 400, then lis equal to __

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819115958 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6829  A=[neN :n 92 OF U= Q5 Qgu}
B={9%+2: keN)

qQ° C={%+1: keN), 6816@ 1 (0<1<9) 219 €& AN (Bu C) 625 IS @aIQIQ
geaa {616 o 274x 400, 6069 1 Qdlg |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819115959 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— : 1
The minimum value of « for which the equation ins | o has at least one

i T \
solution in ' 3 — | s
\ 2)’

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 86 Question Id : 70819115959 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e B 4 1 2 o "
1[], i ‘ HIARIRER, dEaad — 25 — = @, Q20 Q6 65lIc™] ArRIIG 2R | 6662 a &
i siny 1- sinx

QeRq gRu aee .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819115960 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

d
If I{x Fx = 2))dx = 22, (a > 2) and [x] denotes the greatest integer < x,
d

then _[(x tlx])dx isequalto .

a
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 87 Question Id : 70819115960 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a ) .
o[ I{ x| +x = 2)dx =22 (a>2) ¥e° [x] @ 8, x @ FJRY 9@ GBI Q1Y x OIf AR O
d

d
aeNR, 6969 [(x+ [])dx QU9

a
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819115961 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If one of the diameters of the circle ¥21 yz 2t~ 6y +6=0is a chord of another circle ‘C’,

whose center is at (2, 1), then its radiusis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819115961 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9@ 2?2+ 12 -2-6y+6=0 989 6GIGT Y Y 4@ 98 ‘C’ @ fY 24, LN 6RLFQ
(2, 1), 6069 4210 QAT 2 |



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819115962 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- = — =3 . - - = =
Let three vectors a, b and ¢ be such that ¢ is coplanarwith 3 and b, a - ¢ =7 and
— — — ‘: \ i \ M — A A
b is perpendicular to ¢, where a =1 + J 4 k and b = 2i + k, then the value of
9
— — = .
2a+b+c| B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819115962 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

50615 AP0 QIS 2, b B ¢ Q 6791 69988 o, 2 8 p 9@ Y@ QMR QTR 29F6 |

——i+j+k 99 b=2i+k, 6069

o

de af, 649

-
a

71 .

QERd __ wuee |

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819115963 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

n i k!
. - 1
lim tan JE Lan 1l Fey—— |> isequal to .
n—so = 1+ r+r1 ,-'I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819115963 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

lim tan Jli tan™! { : 5 \I|> =lali

n—3oo =1 B B o B

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



